?QM\A&US ' )
a2200  1041AM Tad va _w&
% @\%m%rs }
\IQ C-\-DFS 4 QReviews —!
x:{ﬂ Add F} (3) ﬁ‘} e
X3 e 4 - LAXM’\ % E {i:]
SCJQ.. [' ] } nin — ( \2._+ 21—4 \_,\1_.
=821
el = el ok T Nl L
S K ;\ x 3\ _ @) 3D ™ \;\\SZ
I8 I I R VT T 3 AL N
Ay B2 R I\ coe® N /*s 1y
. G,_ [T IV RSN
P?POXC\ C~- QA e Bre
o P
C'WV‘ A= |Z o8 =, 2|0 el [#) B3 B4 0] =
(. > i k““‘\ \\\ . \w\
N A - £ 4 ’
Eers ;;(\ az-,ﬁ\ (R R ] Y =121, }lw)éi
\ % = 2 & o7 [-8]-8 L i’?(ﬂ

=V



STt L A5l = NX »\9 ND% =0

\mwv\oy/\revs 333141\&
A= |:§ g 2]_] - wav\-\' )(#6
1 -1 4 > reed ALQ}(A- XL\; Q.

(a6 = dub (KT-A) (v con vt duk (A-xT)

X-L O -1
O X-Z |
~ | | %4
= G (06 1) - Lo+ (x-2))
- (%-L)[XL— X +8 —| ~Z_}

\_/-\,__/

N -
= (x—‘LW(leVY’Y\ CaCA\= O '10*" ’\")Z)S-

:\ - —-_T_ p— L"l @] 1 - | o L
A A-NT = A -1 e _\\ XO »-\\
2.5 I I | -V

O %2
- |

-~ (x| ¥ |+ 0o-2
| X-Y

¥ L= 0 D X =-{X3 —
'7(2, ‘Ys*() XL‘YL

— s ér&( ~2>‘§_} = X -,
>(: X ,
E (" X\ = i(z\ A\ = T N "




IR 5 Tl

\N=5 A-sT=(1-S o 2] -(-2o 1
o 2-S5 - o -3 -\
v =) A-5 |- =)

=) =)

o -3 -

o -3 -
_0-) Y\ l, 5@, ~

o PRI Rl P ]

&'%;KL’)ZL) SO o O o O )

<~ {ll\ (A-5T)L=0 = 2-%L,-0

o - -V | —~

xm{' Y

1
2 2, +lh2y= 0
L\ - Z/S &1 . Z_
L.’;_\/l %5 (lAOOSQ %,3: S =7 L;[’ ]]
2,3 \s —gl‘ee, ?)

Nobe - Lo} P={x 19|32 = {’? ‘\fﬂ
O
AP= (px|as)az)

S
™

3
=

3

()
‘\
—
P
|
e
e )




Example 3

C;r(ﬂ = X-2 o O
’ o) 2 x+l — L
S I S o Y-7
-5 —-10 7
= (3(-7.) Yi+T -~
£ Len o %3
‘tyﬁuadw .

= (% 17(3(1— Sx -1¥ +1 o)
AL (MU\L‘V‘.‘C'AJ l) e (X Sx ()

A=3 = (x-) (= 2(%x-3)
>\:l A'li — l-1 O @) ~ 3} o O
-2 -1-2 L _) =4 7
-S  ~\0 Q7L -S -lo§

(fff {ZD L "} = {*} ond (A-21)X=0

O 0O O X
O O O 7<; Y\ LZ*L"'%S: u
57
7 oR vechrs ik \-=) S?\ <,
>\ - ‘S A "%I_ - \2- 1o O i 0 o
-L -1y - 2i-S L
-S -\0 1) ’ <!l _\wo ¢




|© -\0 9 RS e

32 (31\_\ imd (A-¥H =3 = h=0
33 o= y&'jl

_ ke 33:5 | 3:(3X
‘D.‘G‘ W‘a\'\lﬁ: ’P: 2\ O)\ CL\aCk:



¢ X-\
R

= (x=) ((Y_* N0~ m -\ (j_;_\\
= (’(—m(XEBXJJ.—|—ﬂ -

=N =) = X G (% 3)
> =0 ) A - \ ) } -‘_'l §
x.‘: O A~ Ok, = A =) So\\xQ As =B (A NS /\@l '|r\\lﬁ’6UD(Q)

Calo)= |-Al = 0
Se \ﬁ\ =0

-— — \'<||
(N=0 ed X:ly | = X700 %l
X My = X3 2 el
1 -
S X[

VE
A= b=l =8 &« | | & [ s |
— o -3 =\ £l =, ==}
L T Vsl =]
25[1 - —f} (&3112—3&’{;[1 e ) ReBar
O —1- —\ - C)-—Z_“\ —
-1 o |\ o ~L -\
R Ty



)
({3—%_5—\7::—6) i 3 L\t‘/z—LB o} 2 :Lﬂz:
= -1 2y ’ )

LS 1S ?ffe







Example 5
_ No)-\ e .
v\ CA (VQ — e
o \
v VO

X -1 =)
-y~ AT:A
- \<\X~‘ \—C—D\s\ R
-1 X - % -) -]

-1 =1 X

g(Xl\\l&\u% .
)\."\ (Nu\‘\- Z,) = \((Xl_\\-l—(_)(,\\ ——(\.&\(\
Nz 2 S (e DD =20
= (%-\—D(X(\K-—D-L\
Oy (K= x —2)
-— CY—\—(\L(X"Z7
ﬁ /——\/ZF_[ — |—Z v ) -y
-z VT ke )
o -L |-

<\<3’-\>
Al A :ﬁi—f»-:{ - :}_{; .
Lo o o O




ATl

Nobe N L s ¢ o bmehion 4, V5 el
R~ L\\yf\\lﬁo\’hf OQ( >\‘—_’\

PCey oW \ \,'j\") = \"‘ = ("’L
DA ‘ o2 /
‘)\( (\",.@ 2z 0 T

———

— . | )
il T ) e
CR P |, | ba A)\

St XL X|
<t <1



= - 1|, L o C -
on = |
6\|J Q\o}
Lb Pe(le T
'//g Vﬁ__ \/(Q.
»
59 e
Cleck? PPy - L > P’
w~nd PTAP =

—_—

an

[ basis

(kfa?% )
or%%w*)*l
_p



Example 2

March 31, 2020 10:02 PM

1
A= |3
-1

A= = (N e - ¢) #2( 36) #3)
Nzl (b 2) = G (e -6) + G (xa

-\

TN

= =it
l =L KT

T

1 -3
-2 K-

— (1)

N NN

g Cq. (’)0 =
2

3 -3
] B




ﬂz_c;\ =D V=L = /=L

SR R R E R

— av\\:) (L Q/\B/v\v%cé‘b (
A Con M'l" L—k ok\ c.?w\a»oa‘lta(
. l\w\’ \I-“'? — y/\&fcj/\l,g& Q/\y/\veolofj ,

_st\\:t (A’Z’DL‘Q = ( (Q&L,M\s . _)
Cek i;% )0"0\ Z e yAe,rJ/{zc&.akXAMcL,f~

v

A
TR \o S (:1)_ (Tocdan canomiced
o O 7

o)



